ANV =i0s% -ds gy 4 - \ =4 X = 4O C.= 40O Hz 4 CoO
XAX =40+ A0 4 - 49 ‘f_ V=5 L= 350 D= 500
VS{},/:JO-MOH;_,{:Q“ 3

XX = o140, 4p- 1=29

 rar Acnd.’. .{Qac&bab**&amjxmé.

{&ou{ o am yxmd -«mgme. =4 viz=b Xl=Ad [XVi=A
=g Vil=?  [XN=4g [XVilz43
N 5-4z, =3 Vill =8 M=dz XVil=d9
X=lo-4-g N=5 X =40 [xv=t ;;l :;?f
1 =

LA, I, S, N, S N, T X, BT, XL X K X KT 2




L TR TR AR H - UL
u__.n_, A Wm - _ Y , “

il SR el T i :
I ol HE LG e MR __ |
| RIS IR f i I i |
| BT - _ il | |

e (AT B AR | T - |
| S PRl | | | ﬁ
: A._rvll.,.,\ JM Mi H T | ? u
| ITIATIR 3 | T i
| I UERE | T i
| cikllc NG Hii
i = ST R
,, n S Nl l4]]1d] _, ,mfﬁ
| S R [T T TSN i
Il o araaEal™ Man ins Mhi SHFT A0 11 |
| e HEHE IS T “
HETENILUEIERY | Il |

| -wﬁl M/H\ T _ _ ..v_rw_ _m _ _ ,V
- eI \wrux_,_f__ T it

i S ST M) i Sl A 1 | |
Z b.,m. _.Amu%__ ] E |

X : ] 3T M |

fisi g e PTG H] il il |

I PR U i % w

| T | | |

ki | T | | |

3 T .._‘___ | | |

S T T | | |

(T | |

LTt _ | w
AR ARE VIV T _ 1 N |
AR SRR RRRIN | \_ | ___“_h MZ ﬁ




